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= 8,984
[ia 8,984
o4 282 1,798
= 899
s 899
201 LBr2d| 2,460 1,890 570
= 1,230
s 1,230
01 At 2t 2l 2,460 1,890 570
O e8| 1,820
—SEg2iEd 2 MRES 7Y 1,000
= 500
s 500
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AN sg€II=4dH
B =osE ARKE
Sl YSHYN CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—zeds8d 29 4 AUl B2 #29% NZ
55,000& *4& 220
= 110
2 110
—SeAFA 29 MEHS ASHE £42
600,000& 12 600
2 300
[ia 300
Oul=l 640
—SEZELY 22 48 € NEMHHE LIS
2ol 640
moi= 50,0002 *4% 25t 400
=2 200
e 200
st 30,0003 x4&H 2= 240
= 120
[ia 120
202 04l 2,400 0 2,400
= 1,200
s 1,200
01 =LHOIHI 2,400 0 2,400
OZeZdEY 29 2 EZANE WA
20,0003 «3H x40 2,400
= 1,200
[ia 1,200
206 = Hl 10,384 4,056 6,328
= 5,192
[ia 5,192
01 =8l 10,384 4,056 6,328
Osgzdd 2 d2338 Mg 78 9,384
= 4,692
s 4,692
Ot & JEHA 28 s 2 1,000
= 500
[ia 500
405 XtAtE SHI 39,000 1,500 37,500
= 19,500
[ia 19,500
01 XML = ZH SHI 39,000 1,500 37,500
Oitz= LA FHH ¢ 39,000
= 19,500
e 19,500
SOIHERAY 16,000 5,550 10,450
2 8,000
= 2,400
s 5,600
405 XHoHF S HI 16,000 0 16,000
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sJl=dd
sgsE d97Nk
IS

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 8,000
< 2,400
e 5,600
01 AL EFHSHI 16,000 0 16,000
O3 4Dl 16,000, 0003 = 1CH 16,000
= 8,000
< 2,400
s 5,600
=2 29 161,138 166,919 25,781
101 @124l 9,178 8,659 519
04 JIZHHZ2XNESE S+ 9,178 8,659 519
O=s3=s2% 42,7803 x2H x30 2,567
O2Z X £ M4k 42,7803 «3H 352 4,492
OJ=23ts 2 Mk 42,7803 1 +30 1,284
O4l 2= 8,343,000& x10% 835
201 Let24d] 5,960 12,260 A 6,300
01 At 22l 2,260 2,260 0
Oger==EH| 500
—2ASHANE 2HEME 25,000 x20& 500
Oogxtz 1,760
—ASANEZ ZIJY0 dxz
440,000& *43| 1,760
02 =224l 3,700 10,000 A 6,300
OAE ZHI S X 3,700
— 28 & ZdIRA 170,000 x10& 1,700
— 242 ¥ FHKA 200,000& x103 2,000
206 M= Hl 75,000 75,000 0
01 =8l 75,000 75,000 0
OAtHE =35 Mot 300& *200,000= 60,000
Osts 1 & Itddt 10,000& x500& 5,000
O=gR & 3237 M 500& *10,0002 5,000
ottdd 2 () 7
100, 000& x5& =104 5,000
207 A RO 41,000 41,000 0
03 A& &2l 41,000 41,000 0
OCRNEZ S Mo 100&+60,0002+6% = 36,000
O=2sts ASAE 5,000
401 Al HI L RO 30,000 30,000 0
04 S At2tEt Al & HI 30,000 30,000 0
OAE dA stt=2 28 ZEEX
15,000,000& »23] 30,000
SHET2A 2 38,647 28,449 10,198
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AN sg€II=4dH
B =osE ARKE
el AEB A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 124 dl 7,347 7,549 A 202
4 D12t Z2XREES 7,347 7,549 A 202
OELZE AMEMHH 2 F2AEF EX
42,7803 1 x50 2,139
Of ZZaciad 2Y EX 42,7803 190 3,851
OXAHH LA BX 42,7803 1«30 1,284
OLMHEEZ 7,274,000 * 1% 73
201 et 5,400 5,000 400
02 2324l 5,400 5,000 400
OAl& & Hl s Xl 5,400
— WA (DLARI| S 63)
150,000 65 900
—EZAHAET HHI(ICPS 108)
400,000& x10& 4,000
—gols Al 100, 000 & »5CH 500
206 M= Hl 5,900 5,900 0
01 M2 4l 5,900 5,900 0
OXAHHeA 2EME 150,000& x10& 1,500
OZTEZEFY FL=2AIID 29 M=
200,000& x10& 2,000
OEUAHUARE 24 NS L 404 W 2
2 25,0003 «405 *23] 2,000
Ol 2 ASH 24 A% P 400
207 O] 4,000 4,000 0
03 Al & 1 HI 4,000 4,000 0
OZXZHH M2 == TH b 1,000, 000& 23| 2,000
OZXx 41& 2X S5 4 1,000,000& »23] 2,000
405 XHoHF S HI 16,000 6,000 10,000
01 At ESFH S 16,000 6,000 10,000
O SZ2eld FL)|J2e8 gl 2
5,000,000 = 1CH 5,000
OELRAXEZA AAH &E ZHU|
1,000,000& = 1CH 1,000
OZEgZZ Al ¢ 10,000, 000& *1& 10,000
SIHLUAISE A 28 L sk 87,234 72,315 14,919
101 @124 dl 8,472 7,992 480
04 12t Z2XEES 8,472 7,992 480
OsJIHLUHAIE A B 42,780 «1H »180 7,701
O4l 2= 7,701,000& x10% 771
201 ¢4l 53,962 51,323 2,639
01 At 2t 2l 5,596 5,600 oy}
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A sgI=HH
HHM: sHsE APRAE
S9l: YEHEN (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OsIHLUHAY 225 2
10,000& *70= x5 3] 3,500
OsIIHYUAIY EHOIX & 2A2AIAE X
8 88,000& ~12& 1,056
O2dUsJIHsEOI2Ns WMAHE
1,000& 50058 500
OsIIAH LAY %2 2 540
- &= 60,000 *3H x2=F 360
— &5t 30,000 «3% »2 = 180
02 222%4| 48,366 45,723 2,643
OUUH=sIIH g2 6,000
OYLU=IIAH 22s A7 300
OsIIHS A A EorAH| 99,000 ~12& 1,188
OsJIH dUAIY 2HHH SFUH(EEHH 2
108) 1,851& %2504 *103] 4,628
OA & &Hl S Xl 36,250
— =& sIIH |4 50,000 *25CH 1,250
— S| A LUAE L THIIH ==2lb]
100, 000& »350CH 35,000
206 M = dl 5,000 5,000 0
01 x24I 5,000 5,000 0
OsJIH Ulete 88 2 5,000
401 Al HI L 2T 15,000 0 15,000
01 Al&H| 15,000 0 15,000
OsIIHYUHAMYE A sSIHAEZAXE A
15,000, 000& * 104 & 15,000
405 XHAHFI S HI 4,800 8,000 N 3,200
01 AL 2 ZF S| 4,800 8,000 A 3,200
O2U=sIAH 28 ST A 2
3,000,000 ~1CH 3,000
OsJIHYUAMGEA HIIe 28 2
1,000,000 = 1CH 1,000
OLU=sINH AotxE Alel 2
400,000 =2CH 800
HolEES&de) =X 18,700 17,200 1,500
= 9,350
= 9,350
101 Q124 H| 6,589 9,460 N2,871
= 3,294
= 3,295
04 JI2ZtHIZ2 2 NEES 6,589 9,460 N2,871
OH Yolls d&ExE 28X 42 780 x1H 140 5,990
= 2,995
= 2,995
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AN sg€II=4dH
B =osE ARKE
Sl YSHYN CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O4l 28 599
= 299
i 300
201 Let24d] 5,500 3,000 2,500
= 2,750
[ia 2,750
01 At 22l 5,500 3,000 2,500
Ogt=+&H| 4,000
—dolls YN 222 € WEZE EF ME 4,000
= 2,000
s 2,000
Ol galls NEE 900
— &Y= 50,000 x5 H »2 =t 500
=2 250
[ia 250
— &3 40,0003 x5H 2 & 400
= 200
s 200
ogdxs 600
—H gols EE 2LIIH X
200, 000& »32] 600
= 300
[ia 300
206 M= Hl 6,611 4,740 1,871
= 3,306
[ia 3,305
01 M2 4l 6,611 4,740 1,871
Ol golls dea & HEEL 2= 7 2,711
= 1,356
s 1,355
Oddis 22X 22 Mg #¢
300,000 * 1304 2 3,900
= 1,950
i 1,950
ARESAE 341,711 390, 188 NABATT
= 85,000
s 256,711
a5 A g 103,008 132,970 A 29,962
101 @124 4] 3,458 3,670 A212
04 JIAH2E2NSE S 3,458 3,670 A212
OMME BZE SAE 29 2X
42,7803 +4H x20 3,423
OdMEE= 3,423,000& 1% 35
201 L4l 2,800 2,800 0
01 At 22l 800 800 0
OO0rd 3t MAIZ X PXz 200, 000& »43] 800
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2N
X ZH -
L= B
el

2= e
S%‘;f AR
ARASAIE

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 2324 2,000 2,000 0
O2X =2 24 |RANES
2,000,000 *1JH & 2,000
206 M = dl 10,750 49,500 A 38,750
01 X2 H| 10,750 49,500 A 38,750
OO0fMig sS4 L HAMES 250,000 x15& 3,750
OO0OFM G L MAISH ASHE
500,000 73| x2 1t A 7,000
207 &I &y 6,000 6,000 0
03 A&l o 24| 6,000 6,000 0
OMASES HARASAIE 3,000,000 *x2& = 6,000
301 et A= 2,100 2,000 100
10 HAFAHI B &2 2,100 2,000 100
OOotdig & =Z25tn=s 2AIxE
200,000 *73| x 1} & 1,400
OXMAISAHARE HAEG BA 7 0008 25 43| 700
402 SI2t 20| & 77,900 69,000 8,900
01 QI2tXE8 X 77,900 69,000 8,900
OFS 44 2% HHEX =4
5,000,000 * tha*2JH 2~ *60% 6,000
OZ&HH KM MSEHX =4
900,000 *60ha*60% 32,400
Ox=EBIIES MHESEZIAIEEX =4 29,500
— MAEE AIBEEX X4
1,500, 000& *5ha x60% 4,500
— M RFAIAE M X 50,000,000 *1CH *50% 25,000
OXMAE 2 MM B2MEHsIHESHE AIY
5,000,000 2= J} 10,000
NEESES MY 4 35,298 41,474 NG,176
101 Q124 H] 2,378 2,244 134
04 JI2ZtHIZ2 2 NEE S 2,378 2,244 134
E2Z2HI2 AIEE 22| 42 780 x5 x5 1,070
ORLl AgEZ 22 42 7803 3% x5 642
ORA SEXIHIT 22| 42,7803 «3H x5 642
Ot EE = 2,354,000 *1% 24
201 et | 900 900 0
01 AP 2t 2| H| 900 900 0
OE3I&=2 ASANEZE EEH2
50,000 *10H 500
OS3&s ASAIEE 29 &dl 29X
200,000& 23] 400
202 044l 540 540 0]
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AN seIIsHE

MY So=E HRXGE

Sl HPASAIE (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 = LH o4 1l 540 540 0
OSst&a=s g s4d =& 60,0003 3«3 540
207 A RO 12,500 12,500 0
03 Al & 12HI 12,500 12,500 0
Oeols XX &X 20,0002 50074 10,000
O, E2HIc] 4EAMEZE 2
250,000& x10& 2,500
301 g2 4= 980 1,290 A310
10 #AtAHIE A3 980 1,290 A 310
OS&=s oAl 2 BIta HARY
7,000& «70H *23] 980
402 RI2EX=201 M 18,000 24,000 A 6,000
01 RIZEAI2E X 18,000 24,000 A 6,000
OSaAS MUHAIE 15,000,000 *2H 2 x60% 18,000
HHOIQOUMUW X &E AP 3,405 15,744 A 12,339
101 124 dl 409 409 0
4 DIt Z2XREES 409 409 0
OFM ASAEEL 2Y 40,4003 x2E »52] 404
OdMEEZ 404,000& *1% 5
201 LB-2g| 1,856 9,795 AT,939
01 At 2t 2l 1,300 8,900 AT,600
odxz 1,300
— S ASANEE 2F FH X
200,000& »43] 800
—SMEN HEED JI 500,000 104 & 500
02 =224l 556 895 A 339
OfM 45AE sIIH SFU  1,851& %3004 556
202 oddl 540 540 0
01 = LH o4 1l 540 540 0
ORM AIEE 22| & =%
0,000 *3H 32 540
206 M= Hl 600 0 600
01 = tl 600 0 600
OFRM AIEE 2EHE 300,000& 25 600
Eola 2435 A7 30,000 0 30,000
403 A X EHHS =0l A 30,000 0 30,000
02 S| 2SI CHSHCH & A B 30,000 0 30,000
OBcl HRWUAN 8 XXM 2L2(2HI) 30,000
NEgxaas Jetxd 170,000 200,000 /30,000
& 85,000
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AN seIIsHE

MY So=E HRXGE

Sl HTASAY (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 85,000
402 RIZEX201 ™ 170,000 200,000 A 30,000
& 85,000
s 85,000
01 DIt 22X 170,000 200,000 A 30,000
OMAESEel MAJIEH 25 85,000,000 204 & 170,000
& 85,000
s 85,000
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